ECE 313 / MATH 362 PROBABILITY WITH ENGINEERING APPLICATIONS

# LECTURE 14 : NEGATIVE BINOMIAL AND POISSON DISTRIBUTIONS

- · TOPICS TO COVER (BASED ON CH 2.6 2.7)
  - > NEGATIVE BINOMIAL DISTRIBUTION
  - > POISSON DISTRIBUTION
- > NEGATIVE BINOMIAL DISTRIBUTION
  - · SEQUENCE OF INDEP. BERNOULLI TRIALS WITH PARAMETER P

ST := # OF TRIALS REQUIRED FOR T SUCCESSES (1)

POSSIBLE VALUES OF  $S_{\Upsilon} = \Upsilon$ ,  $\Upsilon+1$ ,  $\Upsilon+2$ , ...

n > r k = n - r

$$7-1$$
 13 and  $k = n-r$  zeros

 $7-1$  13 and  $k = n-r$  zeros

 $7-1$  13 and  $k = n-r$  zeros

 $7-1$  13 and  $k = n-r$  zeros

$$\mathcal{P}_{S_{\mathbf{T}}}^{(\mathbf{n})} = \mathcal{P}\{S_{\mathbf{T}} = \mathbf{n}\} := \begin{pmatrix} \mathbf{n} - 1 \\ \mathbf{r} - 1 \end{pmatrix} \mathcal{P}^{\mathbf{T} - 1} (1 - \mathbf{p})^{\mathbf{n} - \mathbf{r}}. \mathcal{P}, \qquad \mathbf{n} \geqslant \mathbf{r}$$

$$S_{r} \sim NB(\tau, p)$$

IF Y= 1 : S1 := # OF TRIALS NEEDED FOR FIRST '1' SUCCESS

GEOMETRIC DIST.

$$P\{ \leq_{i} = n \} := 1 \cdot p^{0} (1-p)^{n-1} p$$

$$= (1-p)^{n-1}p$$

## PMF VERIFICATION :

$$\sum_{n=1}^{\infty} b_{S_{1}}(n) = 1$$

$$\sum_{n=r}^{\infty} {n-1 \choose r-1} p^{r} (1-p)^{n-r} = 1$$

NEG. EXPONENT
$$(1-x)^{-\gamma} := \sum_{k=0}^{\infty} {k+\tau-1 \choose \tau-1} x^k : \text{NEG. BINOMIAL}$$
EXPANSION

TAKE 
$$x = 1-p$$
 and GET  $k = n-r$   $\Rightarrow$   $r = n-k$   $\Rightarrow$   $k = 0 \longrightarrow n = r$ 

$$(1 - (1-p))^{-\gamma} = \sum_{n=1}^{\infty} {n-1 \choose \gamma-1} (1-p)^{n-\gamma}$$

$$\Rightarrow \qquad p^{-\gamma} \qquad = \qquad \sum_{m=\gamma}^{\infty} {\binom{m-1}{\gamma-1}} \left(1-p\right)^{m-\gamma}$$

$$\Rightarrow \qquad \qquad = \qquad \sum_{m=r}^{\infty} {m-1 \choose r-1} p^{r} (1-p)^{m-r}$$

$$1 = \sum_{n=r}^{\infty} PMF OF NB(r, p)$$

# · MEAN AND VARIANCE OF SY ~ NB(7, P)

OBSERVE THAT

$$G_7 = L_1 + L_2 + \cdots + L_7$$
 where  $L_i \sim 4EOMETRIC(p)$ 
 $\uparrow \qquad \qquad \uparrow \qquad \downarrow i=1,..., \uparrow \qquad \uparrow \qquad \qquad \downarrow \qquad \qquad \uparrow \qquad \qquad \uparrow \qquad \qquad \downarrow \qquad \qquad \downarrow \qquad \qquad \uparrow \qquad \qquad \downarrow \qquad \qquad$ 

$$E(G_{7}) = E(L_{1} + \cdots + L_{\gamma})$$

$$= E(L_{1}) + \cdots + E(L_{\gamma})$$
INDER OF L<sub>1</sub>,..., L<sub>\gamma\) 15 NOT NEEDED

$$= E(L_{1}) + \cdots + E(L_{\gamma})$$</sub>

WE CAN ALSO CALCULATE: Var (Sy) := Var(L1) + ... + Var (Ly)

$$\frac{\operatorname{Var}(G_{Y}) := \operatorname{Var}(L_{1}) + \cdots + \operatorname{Var}(L_{Y})}{e^{2}}$$

$$= \frac{\Upsilon \cdot (1-p)}{p^{2}}$$

# 1 INEDEP BERNOULLI TRIALS

CONSIDER: 
$$p_b(0) = {n \choose 0} p^0 (1-p)^{n-0}$$

BINOMIAL  $(n,p)$  RV

$$\Rightarrow \qquad p_b(0) = (1-p)^{\frac{1}{2}}$$

$$= n \ln (1-p)$$

$$= n \ln (1-p)$$

$$(*) \Rightarrow \ln p_b(0) = n \ln (1-\frac{n}{n})$$

$$= n p$$

WE KNOW THAT: 
$$u + o(u)$$
 where  $o(u) \rightarrow o$  as  $u \rightarrow o$ .

TAYLOR'S THEOREM

$$\Rightarrow \lim_{n \to \infty} \ln p_b(0) = \lim_{n \to \infty} + \lim_{n \to \infty} n \circ \left(-\frac{n}{n}\right)$$

$$\Rightarrow \quad L_n \mid p_b(0) \rightarrow -\lambda \quad As \quad n \rightarrow \infty$$

$$\Rightarrow \quad p_b(0) \rightarrow e^{-\lambda} \quad As \quad n \rightarrow \infty \quad \dots \quad (**)$$

#### NOW CONSIDER :

SET P = 
$$\frac{\lambda}{21}$$

$$\Rightarrow p_b(k) = \frac{n(n-1) \cdot \dots \cdot (n-k-1)}{k!} \left(\frac{\lambda}{n}\right)^k \left(1 - \frac{\lambda}{n}\right)^{n-k}$$

$$\Rightarrow$$
  $p_b(k) \rightarrow \frac{\lambda^k e^{-\lambda}}{k!}$  As  $n \rightarrow \infty$  where  $\lambda = np$ 

$$p_{X}(k) = \begin{cases} e^{-\lambda \lambda} & k = 0, 1, 2, \dots, \\ 0, & \text{otherwise} \end{cases}$$

### PMF VERIFICATION:

• 
$$p_{x}(k) > 0$$
  $f(k)$ 
•  $p_{x}(k) > 0$   $f(k)$ 
•  $p_{x}(k) = 0$ 

$$\sum_{k=0}^{\infty} e^{-\lambda} \frac{\lambda^{k}}{k!} = e^{-\lambda} \sum_{k=0}^{\infty} \frac{\lambda^{k}}{k!}$$

WE KNOW THAT 
$$e^{z} = \sum_{k=0}^{\infty} \frac{z^{k}}{k!}$$

$$\Rightarrow \sum_{k=0}^{\infty} \frac{e^{-\lambda} \lambda^{k}}{k!} = e^{-\lambda} e^{\lambda} = 1$$

# MEAN OF X :

Ex := 
$$\sum_{k=0}^{\infty} k p_{x}(k)$$
  
=  $\sum_{k=0}^{\infty} k \frac{e^{-\lambda} \lambda^{k}}{k!}$   
=  $\sum_{k=0}^{\infty} k \frac{e^{-\lambda} \lambda^{k-1}}{k(k-1)!}$   
=  $\lambda \sum_{k=0}^{\infty} \frac{e^{-\lambda} \lambda^{k-1}}{(k-1)!}$   
=  $\lambda \sum_{k=1}^{\infty} \frac{e^{-\lambda} \lambda^{k-1}}{(k-1)!}$   
=  $\lambda \sum_{k=1}^{\infty} \frac{e^{-\lambda} \lambda^{k-1}}{(k-1)!}$   
=  $\lambda \sum_{k=1}^{\infty} \frac{e^{-\lambda} \lambda^{k-1}}{(k-1)!}$ 

# VARINANCE OF X

$$Var(X) := EX^2 - (EX)^2$$

$$E(x^{2}-x) := \sum_{k=0}^{\infty} (k^{2}-k) p_{x}(k)$$

$$= \sum_{k=0}^{\infty} (k^{2}-k) \frac{e^{-\lambda} \lambda^{k}}{k!}$$

$$= \sum_{k=0}^{\infty} (k^{2}-k) \frac{e^{-\lambda} \lambda^{2} \lambda^{k-2}}{k(k-1)(k-2)!}$$

$$= \lambda^{2} \sum_{k=0}^{\infty} \frac{e^{-\lambda} \lambda^{k-2}}{(k-2)!}$$

$$= \lambda^{2} \sum_{k=0}^{\infty} \frac{e^{-\lambda} \lambda^{k}}{k!}$$

$$= \lambda^{2}$$

$$\Rightarrow$$
  $\mathbb{E} \chi^2 - \mathbb{E} \chi = \lambda^2$ 

$$\Rightarrow$$
  $E X^2 - \lambda = \lambda^2 \Rightarrow E X^2 = \lambda^2 + \lambda$ 

$$\frac{1}{2} \left( \frac{1}{2} \right)^2$$

$$Var(x) = \lambda$$

### ALTERNATIVELY :

$$B \sim BINDMIAL (m, p)$$
 and  $x \sim POISSON (A)$ 

$$\lambda = \frac{\eta}{p}$$
 and  $\eta \to \infty$ 

$$EB = np = n \frac{\lambda}{n} \longrightarrow \lambda = EX$$

as 
$$n \rightarrow \infty$$

$$Var B = np(1-p) = n \frac{\lambda}{n} \left(1 - \frac{\lambda}{n}\right) \longrightarrow \lambda = Var(x)$$

$$ob$$
  $n \rightarrow \infty$